Rozwigzac¢ podany uktad réwnan i sprawdzi¢ rozwigzanie:

1.
X, +2x, = 3x; + X, + X5 = -1
2X, +2x, —X; +3x, — X5 =1
X, +X, —2X; —2x, +X,=3
3x, —2x, + X5 +2x, +x5, =10
X, =X, +X; —2Xx, =5x, =0
2.
X—y+z—t=2
3x—y-T7z+2t=0
6x+2y—z—-t=0
2x=2y+2z-3t=5
3.
X+2y+3z+4t=5
2x+y+2z+3t=1
3x+2y+z+2t=1
4x+3y+2z+t=-5
4.
X+2y+3z-4t=4
y-z+t=-3
x+3y-3t=1
~Ty+3z+t=-3
5.
X, +2x, +3x; +4x, +5x, =13
2x, + X, +2x; +3x, +4x, =10
2x, +2x, + x5 +2x, +3x5 =11
2X, +2X, +2X; + X, +2X, =6
2%, + 2%, +2X; +2Xx, + X5 =3
6.

6x, +4x, +5x; +2x, +3x5 =1
3x, +2x, +4x; +x, +2x, =3
3x, +2x, —2x; +2x, =7
9%, +6x, + X5 +3x, +2x5 =2

2X, +5%x, —2X, +2X, +X5, =3



